## HW 6 (3rd HW on ODE's), Math 601 Fall 2018 University Of Wisconsin, Milwaukee

Nasser M. Abbasi

October 23, 2018 Compiled on October 23, 2018 at 9:53pm

1 problems description	1
2 Key solution	2
1 problems description	
Homework #3   OPES HATH 601 act 23/2018.  Show that the initial value problem   xy'=4y has no solution Does this contradict the   y(0)=1   existence theorem we considered?  State the definition of a lipschite condition. Show that   y'=  sin y  + x   satisfies the Lipschite   y(xo)=yo   condition with Lipschite constant 1 on the whole   x-y plane.  Apply the Picard iteration to   y'=y   and show that the approximation   y'=y   and show that the approximation   y'=y   approaches the exact solution   y=ex    Solve the following unitial value problems  y"+2y'+y=0   b)   y"+9y=0   y(0)=4, y'(0)=-6  Solve the following problem (catenary)  y"=   1+(y')^2   y'(1)=0   and plot the solution.	7.

0 Homework #3 solutions Math 601 xy=4y separable eq. +yy = 4 integrate enly1=4 enlx1+c 141=1×14ec  $y = C \times^4$ no such solution. general solution  $1 = y(0) = C \cdot 0 = 0$ y'=f(x,y)= 44 not continuous at x=0 i.e not confirmour in any R rectangle around the (x,y)=(0,1) point in the x-y plane Thus conditions of the existence theorem are not satisfied. y'= f(x,y)= | siny |+x Lipschitz continuity for f(x,y): |f(x,y2)-f(x,y1)| < for Louislant 114.-4.1  $\begin{aligned} &|f(x,y_2)-f(x,y_1)|=||sun'y_2|+x-|sun'y_1|-x|&\leq |sun'y_2-sun'y_1|\\ &|f(x,y_2)-f(x,y_1)|=||sun'y_2-f(x,y_1)|+x-|sun'y_1|-x|&\leq |sun'y_2-sun'y_1|\\ &|f(x,y_2)-f(x,y_1)|=||sun'y_2-sun'y_1|-x|&\leq |sun'y_2-sun'y_1|\\ &|f(x,y_1)-f(x,y_1)|=||sun'y_2-sun'y_1|-x|&\leq |sun'y_2-sun'y_1|\\ &|f(x,y_1)-f(x,y_1)|=||sun'y_2-sun'y_1|-x|&\leq |sun'y_2-sun'y_1|\\ &|f(x,y_1)-f(x,y_1)|=||sun'y_2-sun'y_1|-x|&\leq |sun'y_2-sun'y_1|\\ &|f(x,y_1)-f(x,y_1)|=||sun'y_1-sun'y_1|-x|&\leq |sun'y_1-sun'y_1|\\ &|f(x,y_1)-f(x,y_1)-f(x,y_1)|+x|&\leq |sun'y_1-sun'y_1|\\ &|f(x,y_1)-f(x,y_1)-f(x,y_1)-f(x,y_1)|+x|&\leq |sun'y_1-sun'y_1|\\ &|f(x,y_1)-f(x,y_1)-f(x,y_1)-f(x,y_1)-f(x,y_1)|+x|&\leq |sun'y_1-sun'y_1|\\ &|f(x,y_1)-f(x,y_1)-f(x,y_1)-f(x,y_1)-f(x,y_1)-f(x,y_1)-f(x,y_1)\\ &|f(x,y_1)-f(x,y_1)-f(x,y_1)-f(x,y_1)-f(x,y_1)-f(x,y_1$ (Note 1a1= |a-b+b| \le |a-b| +|b| \in |a1-|b| \le |a-b| 1 - 142 71 50 /al-16/18/a-6/ ( with z in between youndy) =

3 Picand iteration: 
$$\begin{cases} y' = y = f(x,y) \\ y(0) = 1 \end{cases}$$

$$\phi_{0}(x) = 1$$

$$\phi_{1}(x) = 1 + \int_{0}^{x} 1 ds = 1 + x + x^{2}$$

$$\phi_{2}(x) = 1 + \int_{0}^{x} 1 + s ds = 1 + x + x^{2}$$

$$\phi_{3}(x) = 1 + \int_{0}^{x} 1 + s + x^{2} ds = 1 + x + x^{2} + x^{3}$$

$$\phi_{4}(x) = 1 + \int_{0}^{x} 4 + s + x^{2} ds = 1 + x + x^{2} + x^{3}$$

$$\phi_{4}(x) = 1 + \int_{0}^{x} 4 + s + x^{2} ds = 1 + x + x^{2} + x^{3}$$

$$\phi_{4}(x) = 1 + \int_{0}^{x} 4 + s + x^{2} ds = 1 + x + x^{2} + x^{3}$$

$$\phi_{4}(x) = 1 + \int_{0}^{x} 4 + s + x^{2} ds = 1 + x + x^{2} + x^{3}$$

$$\phi_{1}(x) = 1 + \int_{0}^{x} 4 + s + x^{2} ds = 1 + x + x^{2} + x^{3} ds = 1 + x + x^{2} + x^{3} + x^{4} + x$$

- homogenous, ling second ord. 图 a,  $\begin{cases} y'' + 2y' + y = 0 \\ y(0) = 1, y'(0) = 0 \end{cases}$ look for linearly independent solutions in the form y=elx => y=lelx 4"=121x y2=44, (uyi)"+2(uyi)+ uyi=0 y"+2y'+y= e1x(12+21+1)=0 u(y"+2y, +y,) + uy, +2uy, +2uy, =0 => (12+21+1) = (1+1) = 0  $\left(\frac{y_1'-e^{-x}}{g_1'-e^{-x}}=1\right)$   $y_1=e^{-x}$  is Solution, second independent solution Lan be obtained as u=Su = Cx + D 42= xex = UK) y,(K) general schution: y=C,y,+C,y2 Initial conditions: € Sy=c, ex + c2 xex 1 = 9(0) = 0, = (y=c,ex+c2ex-c2xex D= y'(0) =-e°+ c2 e°+0  $y(x) = e^{x} + xe^{x}$ if  $y=e^{tx}$  then  $y''+9y=e^{tx}(\lambda^{2}+9)=0$ b) -  $\begin{cases} y'' + 9y = 0 \\ y(0) = 4, y'(0) = -6 \end{cases}$ general real solution 12+9=0 1===31  $y(x) = e^{0x} \left( c_1 \cos 3x + c_2 \sin 3x \right)$ c, = y(0)=4 & y(x) = 3 gsin 3x + 3 c, cos 3x 3c2=y'(0)=-6 € => C2=-2 Hurs, y(x) = 4 cos 3x -2 cos 3x

$$|S| = |I+(y|)^{2} > 0 > u = y$$

$$|y(-1) = y(1) = 0$$

$$|Second order boundary value | y = 1 | vid x = x + c$$

$$|Second order boundary value | y = 1 | vid x = x + c$$

$$|S-cond order boundary value | y = 1 | vid x = x + c$$

$$|S-cond order boundary value | y = 1 | vid x = x + c$$

$$|S-cond order boundary value | y = 1 | vid x = x + c$$

$$|S-cond order boundary value | y = 1 | vid x = x + c$$

$$|S-cond order boundary value | y = x + c$$

$$|S-cond order boundary value | y = x + c$$

$$|S-cond order boundary value | y = x + c$$

$$|S-cond order boundary value | y = x + c$$

$$|S-cond order boundary value | y = x + c$$

$$|S-cond order boundary value | y = x + c$$

$$|S-cond order boundary value | y = x + c$$

$$|S-cond order boundary value | y = x + c$$

$$|S-cond order boundary value | y = x + c$$

$$|S-cond order boundary value | y = x + c$$

$$|S-cond order boundary value | y = x + c$$

$$|S-cond order boundary value | y = x + c$$

$$|S-cond order boundary value | y = x + c$$

$$|S-cond order boundary value | y = x + c$$

$$|S-cond order boundary value | y = x + c$$

$$|S-cond order boundary value | y = x + c$$

$$|S-cond order boundary value | y = x + c$$

$$|S-cond order boundary value | y = x + c$$

$$|S-cond order boundary value | y = x + c$$

$$|S-cond order boundary value | x + c | y = x + c$$

$$|S-cond order boundary value | x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x + c | y = x +$$